Products	Units	Price
Product 1	2	60
Product 2	3	50
Product 3	4	80
TOTAL	9	190



Background updates are not working as expected

Background updates ensure that WordPress can auto-update if a security update is released for the version you are currently using.

Security

- X The WP_AUTO_UPDATE_CORE constant is defined and enabled.
- × All automatic updates are disabled.
- ✓ No version control systems were detected.
- ✓ Your installation of WordPress doesn't require FTP credentials to perform updates.
- X Some files are not writable by WordPress:

xmlrpc.php

wp-blog-header.php

wp-signup.php

index.php

wp-cron.php

wp-login.php

wp-settings.php

wp-mail.php

wp-links-opml.php

wp-load.php

wp-includes/class-wp-user-query.php

wp-includes/l10n.php

wp-includes/date.php

wp-includes/class-wp-oembed.php

wp-includes/images/blank.gif

wp-includes/images/down_arrow.gif

wp-includes/images/spinner.gif

wp-includes/images/media/interactive.png

wp-includes/images/media/default.png

wp-includes/images/media/code.png

...

Your Company Name

Your Address City, State Zip

> Invoice No. 123456 Invoice Date 01/01/2016

Client Name

Address City, State Zip

Notes

Item	Quantity	Price	Total
Item 1	1	40.00	40.00
Item 2	2	30.00	60.00
Item 3	3	20.00	60.00
Item 4	4	10.00	40.00
		TOTAL	200.00

Your Company Name

Your Address City, State Zip

> Invoice No. 123456 Invoice Date 01/01/2016

Client Name

Address City, State Zip

Notes

Item	Quantity	Price	Total
Item 1	1	40.00	40.00
Item 2	2	30.00	60.00
Item 3	3	20.00	60.00
Item 4	4	10.00	40.00
		TOTAL	200.00

Products	Units	Price
Product 1	2	60
Product 2	3	50
Product 3	4	80
TOTAL	9	190



Background updates are not working as expected

Background updates ensure that WordPress can auto-update if a security update is released for the version you are currently using.

Security

- X The WP_AUTO_UPDATE_CORE constant is defined and enabled.
- × All automatic updates are disabled.
- ✓ No version control systems were detected.
- ✓ Your installation of WordPress doesn't require FTP credentials to perform updates.
- X Some files are not writable by WordPress:

xmlrpc.php

wp-blog-header.php

wp-signup.php

index.php

wp-cron.php

wp-login.php

wp-settings.php

wp-mail.php

wp-links-opml.php

wp-load.php

wp-includes/class-wp-user-query.php

wp-includes/l10n.php

wp-includes/date.php

wp-includes/class-wp-oembed.php

wp-includes/images/blank.gif

wp-includes/images/down_arrow.gif

wp-includes/images/spinner.gif

wp-includes/images/media/interactive.png

wp-includes/images/media/default.png

wp-includes/images/media/code.png

...

Products	Units	Price
Product 1	2	60
Product 2	3	50
Product 3	4	80
TOTAL	9	190



Background updates are not working as expected

Background updates ensure that WordPress can auto-update if a security update is released for the version you are currently using.

Security

- X The WP_AUTO_UPDATE_CORE constant is defined and enabled.
- × All automatic updates are disabled.
- ✓ No version control systems were detected.
- ✓ Your installation of WordPress doesn't require FTP credentials to perform updates.
- X Some files are not writable by WordPress:

xmlrpc.php

wp-blog-header.php

wp-signup.php

index.php

wp-cron.php

wp-login.php

wp-settings.php

wp-mail.php

wp-links-opml.php

wp-load.php

wp-includes/class-wp-user-query.php

wp-includes/l10n.php

wp-includes/date.php

wp-includes/class-wp-oembed.php

wp-includes/images/blank.gif

wp-includes/images/down_arrow.gif

wp-includes/images/spinner.gif

wp-includes/images/media/interactive.png

wp-includes/images/media/default.png

wp-includes/images/media/code.png

...

https://bytescout=corn:s0=us=west=2.amazonaws.com/files/demo-files/cloud-api/pdf=merge/sam

Background updates ensure that WordPress can auto-update if a security update is released for the version you are currently using.

- X The WP_AUTO_UPDATE_CORE constant is defined and enabled.
- × All automatic updates are disabled.
- ✓ No version control systems were detected.
- ✓ Your installation of WordPress doesn't require FTP credentials to perform updates.
- × Some files are not writable by WordPress:

xmlrpc.php

wp-blog-header.php

wp-signup.php

index.php

wp-cron.php

wp-login.php

wp-settings.php

wp-mail.php

wp-links-opml.php

wp-load.php

wp-includes/class-wp-user-query.php

wp-includes/l10n.php

wp-includes/date.php

wp-includes/class-wp-oembed.php

wp-includes/images/blank.gif

wp-includes/images/down_arrow.gif

wp-includes/images/spinner.gif

wp-includes/images/media/interactive.png

wp-includes/images/media/default.png

wp-includes/images/media/code.png

...

Invoice Number: Invoice Date: Invoice Due Date: BILL TO Name: Company: Address: Email:

Item

Price

Discount: \$ NaN

Tax: \$ NaN

TOTAL: \$ NaN

